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(a) Tprop = 5000 for all runs, Pmut ∈ {0, 0.01, 0.03, 0.05, 0.1} for
{43, 57, 87, 42, 73} runs with each value respectively.
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(b) Pmut = 0.01 for all runs, Tprop ∈ {2000, 5000, 10000, 20000} for
{46, 57, 60, 75} runs with each value respectively.

Figure 7: Response to artificial ecosystem selection (using propagule sampling) varies inversely
with mutation rate and propagation time. Plots show mean absolute difference in Φ between
high and low lines (±1 s.e.) after 30 iterations of ecosystem selection, measured on multiple
runs with varying mutation rate Pmut and propagation time Tprop. The target vector is
(ā1, ā2, ā3) = (0.2, 0.3, 0.5) for all runs.

14




